HoME WORK 6

Solu bionsg
@ EXPC\Y\A
(0\3 IX Y F - A + B
{ X+1} (X-&-B}

(= eD(x +3)

Alx+3) T B> +#2)

Cxe2)(x+3)

ax+F = (A+R) x + 3A 2D

ECLW&E"\‘& the cosfficients We 3et
A+R = 3 — A=
IA+2R = A B = 2

<o o+ F 2

LI
éx-yl}(x*-SB ()(f13 (X‘f‘rg\

(b‘) :D:(.tj:— = A + /E_ + i
(x fl\l@wg\ (x+2) (2 +2) ( x+3)
&x .
, , ol
= A CreD)(x ) T B(x+3§ reC x+2)
(x«d}l C x43)
*@(¢w+x*%\

AR LC
M<A+@)x°‘ +5A+B+4‘C\X
(x#l\'}[)c‘fg}
Equabing dhe  corfficionts ¥ 32F
Al =0 =P A= 2
A +R+4C = .3 R = \

LA "“31?)*4‘(,:‘3— CG =-



So 3X+7 - 2 N
(><+1\(><+%) (>«+13 (%232 Cf‘%)

(e'> S Ix+T7
Ax = 4 dx 2
( X+ DD (X+u)+ gﬂ'm»g A%

| + = L \X*’%\ r & wheve € S om‘m’xec}rc\ix‘w

= An|x+2
Coanctant .

g},ﬁj AX = > j' ax Tt S — j
[Xﬂ\\lfxﬁ\ (X +2) (x+2Y (x+ 3\
} -2 An \x+’3\ s c N ¢ 2¢ OJ-\\\Y\\Q‘X{Q‘{\\\Y

.:z.,Qy\lx S Bl
- ( x+2)

Cantt ank |



T = SF(M A x

j’cfx') AX = g ijgiw(ﬁx\AX

Let u=-e o dv = Swgx)dx =v

V ==C O qx\
9

=
uSir\j ‘\V\’*eafc\‘\"\o'ﬁ By '\er*g We %et
= e7>< (—-COSGX)\ - y_ C‘C’S(q x\‘7-€7x dx
4
9
L Pcestho ¢ 3] coamre’ A
y 1
ar ¥ 8

B T b P

we o hovd

To= _e Tcoslaxy o 2 T, (D

—\ =
9 1
ax
E COS@U‘) €7xr)\)( = e’ (+ Se\v\ﬁx\ — nqx 7.¢ A X
TR T
Il = c S\Y\(CIX) —-—l]:\ (3_3
9 9
M, (2} Hives
- ece g‘m 2T )
L, = CQSC\X (@ WERA i |
7'L _ E:‘_-,7>< <7S\V\Cl>(‘ - Cogaix\
by (‘ T (ﬂ \ S = T
CI ‘ *6“?%*% -
| I, e an e
b /i@ (75-\:—62( V(\OS@XX\ N e Constant
130 9 :
x . N ‘\ ("*rog‘\Y‘
T = ,j_fj_ 7[0“1)( + Sih%[xy\ + C p G e V\\,t} A\ 4
(\OY‘(‘\Q,)\T

[

32 7



130

Ty, ' (7(u&f;x~ ~q<ingx) + G
32




